KOCQ UNIVERSITY

MATH 102
FIRST MIDTERM November 11, 2015

Duration of Exam: 75 minutes

INSTRUCTIONS:

e No calculators may be used on the test.
e No books, no notes, no questions, and no talking allowed.

e You must always explain your answers and SHOW YOUR WORK
to receive full credit.

e Print (use CAPITAL LETTERS) and sign your name. GOOD LUCK!

SURNAME, Name:

=~y
Student ID no: L 7

Signature:

(Selda Kiiciikgifei - MW 13:00-14:15) :  —
(Check One): (Selda Kiiciikgifci — MW 16:00-17:15) —_—

PROBLEM 1 2 3 4 BQ | TOTAL

POINTS 30 20 30 20 5 105

SCORE




Problem 1 (30 pts) Find the following limits.
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Problem 2 (20 pts) Using intermediate value theorem show that the equation z3 — 152 +1 = 0
has three solutions in the interval [—4, 4].
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is possible
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Problem 3 (30 pts) Find the derivative of the function f in (a) — (b). Simplify your answer, if it




Problem 4 (20 pts) Using implicit differentiation find an equation of the tangent line to the curve

V(Y —4) = 2°(z* - 5)
at the point (0, —2).
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BONUS QUESTION (5 pts) If f(z) = 3+ +¢*, find (f~1)(4)
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